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1. The first term of the G.P.5,15,45,135,405,...=
(i) 45 (ii) 135 (iii) 5 (iv) 405 (v) 15
11 1 1 1

2. The first term of the G.P. -, —,—, — , - ——
3 9 27 81 243

(i) ! (ii) E (iii) E (iv) 1 (v) !
Vogaz W3 Mg W W5y
3. The common ratio of the G.P.4,8,16,...=

(i) 5 (i) 1 (ii) 3 (iv) 2 (v) O

. 2 2 2
4, The common ratio of the G.P. — ,— ,- e =
7 63 567
(i) = (ii) ! (iii) ! (iv) E (v) (-_-1)
i 11 ii g iii 3 iv 5 v 9

5. Thetgof the G.P.5,20,80,...=
(i) 81918 (ii) 81923 (iii) 81921 (iv) 81920 (v) 81919

6. Thet,of the G.P. =

’

1
727

0|
[ R

(i) L (if) - (iii) (i) (iv) * (v) .
648 216 648 646 650

1 1
7. Determine t;of a G.P. whose f,is a1 and common ratio is 5

-1 . 1 1 , 1 1
) (i) (iii) (iv) (v)

[
W 17496 17498 5832 17494 17496

8. Thetzof a G.P.is49152 and £5is48 .Find 5.
(i) 769 (ii) 768 (iii)) 770 (iv) 766 (v) 767

1 1
9. Thet;of a G.P.is—— and fis - .Find ;.
20 500

(i) ! (ii) > (iii) ! (iv) ! (v) ( ! )
i) - i) - iii iv v) (-
2502 2500 2500 2498 2500
10. Which term of the G.P.5,25,125,...is156257?

() &, (i) & (i) & (V) & (V) f



3 3 3 3
. Which term of the G.P. —, , A ?
7 49 343 40353607

(i) to (D) & (i) & (V) &, (V) &

The sum of first three terms of a G.P. is14 while their product is64 .
" Find the G.P.

() 3.6,12,... (i) 2,0,0,... (i) 2,2,2,... (iv) 2,4,8,... (v) 4,8,16,...

7
The sum of first three terms of a G.P. is 3 while their product is -

4096
Find the G.P.
.3 3 3 1 -1 1 o1 11 . 1 1 1 1 1 1
(i) , s e (1) =, (=—=),—,... (i) y=a = (V) =, —,— ... (V) —,—,—,...
8 16 32 8 16 32 8 8 8 8 16 32 10 20 40

Find the common ratio and next four terms of the following G.P.
1,0.3,0.09

(i) 0.3;0.027,0.0081,0.00243,0.000729 (ii) 0.4;0.064,0.0256,0.01024,0.004096

(iii) 0.4;0.008,0.0016,0.00032,0.000064 (iv) 0.4;0.027,0.0081,0.00243,0.000729

Find the common ratio and the next four terms of the

" following G.P.v6,4v3,8V6 . ..
(i) v8;8v6:16v6:32v6:64v6 (ii) v8:32v3:64v6:256V3;512v6
(iii) v6;64v6;256v3:512v6:;2048v3 (iv) v6:32v3:64v6:256V3;512v6

(v) v8;27v6;81v6;243V6;729v6

3 2
. Find the value ' x 'so that > X, 3 are three consecutive terms of a G.P.
(i) 0 (i) 1 (iii)) 2 (iv) -2 (v) 4
. Ifa, b, c are three consecutive terms of an A.P, then which of the following are true?
a) kb, k?, k arein G.P.
b) ak, bk, ckare in G.P.

Q) k2@, kb, kCare in G.P.

d) ab,bc,caarein G.P.
(i) {a,c} (i) {c} (i) {d,a,c} (iv) {b,c}

. If the nth ,(n+3)rd and (n+6)th term of a G.P. are p, g and s respectively, then which of the following are true?

(i) {c.a,d} (i) {d} (i) {b,d} (iv) {a,d}



20.

21.

22.

2 - -1
19. Find the common ratio and next four terms of the following G.P. ( 3 ),(-6 ), ( 24). .
o1 -1 -1 -1 -1 . 1 -125 -625 -3125 -15625
(i) () ( ). ( ). ( ) (i) 1 ( ), , ,
4 96 384 1536 6144 4 96 384 1536 6144
(_,_)11 9 (-27 81 -243)(_)11(-1)(-1)(-1)(-1)
iii - (- iv) 1= :(- (- (- )
4 32 128 512 2048 4 96 384 1536 6144
Which term of the G.P. 2 ,2\/'2 ,4...is1287?
(i) o (i) 5 (i) ty (iv) fa (V) t3
Thet,of a G.P. =
n n
(a)((n -1) — (N((a) -1) _
(0) Gy ra 771 i (v) ar?™1)
(r—1) (a—1)
Given a =1, r =0.20find f;and £, of the G.P.
(i) 0.20;0.80 771 i)y -0.20:0.20”71) ity 0.00:0.20”71) (iv) -0.10; 0.20("7 1)
(v) 0.10;:1.20¢771)

23.

The sum of first three terms of a G.P. is124 and

the sum of next three terms is15500 .

(i) 7,17,100,500,2500,12500,. ..

(iv) 6,18,100,500,2500,12500,. ..

Determine the G.P.

(i) 1,23,100,500,2500,12500,. ..

(v) 4,20,100,500,2500,12500,. ..

(iii)

2,22,100,500,2500,12500,. ..
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1) (iii) 2) (ii) 3) (iv) 4) (ii) 5) (iv) 6) (i)
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